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def find key path(node list, edge list):
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temp start list = []
for edge in edge list:
temp_start list.append(edge[1])
start node = [x for x in node list if x not in temp start list]

# print (start node)

Ve node dict = {}
Ve node dict[start nodel[0]] =0

for node in node list:
Ve tempnode list = []
for edge in edge list:
if node == edgel[l]:
temp Ve node value = Ve node dictledge[0]] + edge[2]
Ve tempnode list.append(temp Ve node value)
if len(Ve tempnode list) == 0:
Ve node dict[node] = 0
if len(Ve tempnode list) == 1:
Ve node value = Ve tempnode 1ist[0]
Ve node dict[node] = Ve node value
if len(Ve tempnode list) > 1:
Ve node value = max (Ve tempnode list)
Ve node dict[node] = Ve node value
print C Ve (v) figte- AW [E] : \n” , Ve_node dict,’ \n’)
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temp end list = []
for edge in edge list:
temp end list.append(edge[0])



end node = [x for x in node list if x not in temp end list]

# print (end node)

V1 node dict = {}
V1 node dictlend node[0]] = Ve node dictl[end node[0]]

reverse edge list = []
for i in range(len(edge list)-1,-1,-1):
reverse edge list.append(edge list[i])

for node in reversed(node list):
V1 tempnode list = []
for edge in reverse edge list:
if node == edgel0]:
temp V1 node value = V1 node dictledge[1l]] - edge[2]
V1 tempnode list.append(temp V1 node value)
if len(Vl tempnode list) == 0:
V1 node dict[node] = Ve node dictl[end node[0]]
if len(Vl tempnode list) == 1:
V1 node value = V1 tempnode list[0]
V1 node dict[node] = V1 node value
if len(Vl tempnode list) > 1:
V]l node value = min(Vl tempnode list)
V1 node dict[node] = V1 node value
print C V1 (v) fdB AW ] : \n”, V1 node dict,’ \n’)
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e bian dict = {}
for edge in edge list:

e bian dict[’ {}-{} . format (edge[0], edge[1])] = Ve node dict[edgel[0]]
print ( e (a) & F & 4EWAE]:\n", e_bian dict,’ \n’)
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1 bian dict = {}
for edge in edge list:
1 bian dict[’ {}-{} . format (edge[0], edge[1])] = VI node dictledgell]] -
edge[2]
print C 1 (a) &IB&4EWAE]:\n", 1 bian dict,’ \n’)
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d bian dict = {}
for bian in e bian dict.keys():

d bian dict[bian] = 1 bian dict[bian] — e bian dict[bian]
print ("d(a) )&= \n”, d bian dict,’ \n’)

print ("CEMAEAN: 7, [x for x in d_bian dict if d_bian dict[x] == 0])
print (f" REEHAKEN: {V] node dictlend node[0]]}”)
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find key path(node list, edge list)



